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« Addition and Subtraction |

(+} additlan, 3umm, incraasae, lotal)
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fha student will represent verbal quantitative situations alqebraically and avaluata thesa
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fha student will salva multi-step linear and quadratic aquations in two
i vanables, including
1) solving literal equations (formulas) for a given replacemant variable,
b) justifying steps usad in simplifying exprossions and solving aquations, using fleld
croperties and axioms of equality that are valld for tha sat of real numbars and its subsets,
HINTS and NOTES ) Properties

e 1. Nume He propurhes.
i) 2453 = 5FAr3

Proparties:
» Associativa Property

(FYa+(b+c)y=(a+b)+c b) @(3X+7~> = FS,‘(P!,}\
(x) albe) = (ab)e .
« Commutative Property C‘.—) (}f\ &3) t L = X+ (’»S + ))
(t)a+rb+c=b+a+c ‘
{x) abe = cha ‘ - e
s Distributive Property C") o+ L L§> =0
a(b +¢) =ab +ac
. szgli%Pripem 2. Which property of real numbers justifies going from

step 3 to step 47

(x)a(l) =a (givan) -3(4x+2)+7x=39
PO { P )
{:;3’?_1::?1“3 (step 1) ~12x-6+7x =39
(Ga-t=1 (step2) -S5x-6=39
. a (step3) -Sx=45
fiﬂ:x:ve Property (step 4) t=-9

s Symmaetric Property
Ifa=>bthenb =a
» Transitive Property

Addition Property of Equality
Additive Inverse Property

COw

Distributive Property
Ifa=bandh =cthena=c¢ o .
- Addition Property of Division Property of Equality
Equality . ,
Adding the same term to 3. Which property justifies the aquation
both  sides of the equation ( ‘ _
+ Subtractian Property of Lf A-9 ) - L{ A -A0
Equality )
Subtracting the same term A Commutative Property of Muitiplication
from both sides of the 8 Assaciative Property of Multiplication
equation C  Multiplication Property of Equality
« Muitiplication Property of D Distributive Property
Equality 4. Which property justifi =23,
i Multiplying the same factor to property justifies the statement 3 2 L?
| both sides of tha equation A Multiplication !dantity Property
» Division Property of Equality B Muiltiplication Inverse Property
Dividing the sama divisor on C Muitiplication Property of Equality
both sides of the equation 0 Commutative Property of Multiplication
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10. Tha following inequality has baeen solvad. In 2ach step, provide the property that
justiflas each stap by clicking and draqging tha proparty to sach step.

Given Dlstributive Property

Addition Property of
Inequality

Commutative Property of
Addition

Associative Property
af Additian

Multiplicative inverse
Property

Zero Property of
Multipilcation

Assaciative Praparty
of Multiplication

Cammutative Property of  Subtraction Property of Additive invarse Praperty of Negative
tuitiplication Inequality Proparty One
Multiplication Property of Division Property of Substitution Property  Reflexive Property of
Inaquality inaquality of inequality Inequality
fleflexive Property of Symmetric Property of  Transitive Property of
Inequaiity Inequality Inequality
23(-2x-7)+35102x-2) 12 (¢ +3)=4+3x N
7(x+3)=4+3x
6x+21+¢3520x-20-12 7e+21=4+3x
7x+21=3x+4
6x+24520x-32 dy+2l =4
S U——
tx =17
-14x+24<-32 — L q
I("r,\’ 1) = -{(*— 17)
~14¢5-56 “ ‘
-1 17
lex 56 ¥ ==(=17)
~-14  -14
s =" 17
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d4) Selving muitistap linear aquations algebraicaily and graphicaily.

ha studant will solva multistep linear and quadratie equations in two variables, including
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) Justifying

The studant will solve multistap linaar inaquali
1) Solving muitistap linear inaqualities alqebra
steps usaed in solving inequalitios,
of order that are valid for the set of real numbars and its subsets;
¢) Solving raal-world problams involving inequalitias

tles in two variables, including
teally and qraphicaily;
using axioms of ing
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Raminder: Inequalities have a

solution set and can ba written in
set builder notation { | 5 32}

“For ail x such that x is less than or
aqual to 32,7
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